MANATEE COUNTY GOVERNMENT INTENT TO AWARD

IFB NO. / TITLE	24-TA004973SAM / SR 70 / 15 th ST. E. Water Main Relocation	DATE POSTED	MC	DS
PROCUREMENT REPRESENTATIVE	Sherri Meier	PROJECTED AWARD DATE	January 23, 2023	
DEPARTMENT/DIVISION	Public Works Department	AUTHORIZED BY DATE	CFFO, NIGFTCFF	Date: 2024.01.03 08:18:13 -05'00'

NOTICE OF INTENT TO AWARD

The Manatee County Procurement Division provides notice of its intent to award a contract with Woodruff and Sons, Inc. for the provision of SR 70 / 15th ST. E. Water Main Relocation.

ENABLING/REGULATING AUTHORITY

Manatee County Procurement Ordinance, Sec 2-26.

BACKGROUND/EVALUATION

SR 70 (15th St E) water main relocation is associated with FDOT project 447380-1 drainage and roadway improvements. The project includes construction of 230 linear feet of 24-inch class 250 DIP water main via open-cut and removal of 220 linear feet of existing 24-inch water main. Also included is connecting to the existing water main and concrete sidewalk and driveway restoration.

The solicitation was advertised on November 1, 2023 on the Manatee County website and DemandStar. It was also provided to the Manatee County Chamber of Commerce, the Manasota Black Chamber of Commerce, Gulf Coast Builders Exchange and Gulf Coast Latin Chamber of Commerce for release to their members and in the Bradenton Herald and Tempo News newspapers. Responses were received from the following firms:

- 1. EZ Contracting, LLC, Winter Haven, FL
- 2. Woodruff and Sons, Inc., Bradenton, FL

The following firms were deemed non-responsive/non-responsible: EZ Contracting, LLC.

EVALUATION SUMMARY:

Woodruff & Sons, Inc. was the lowest responsible, responsive bidder(s). A bid tabulation of the results is attached to this Notice of Intent to Award.

RECOMMENDATION

The Procurement Division and the Public Works Department recommend award to Woodruff & Sons, Inc.

ATTACHMENTS	Bid Tabulation	COST	\$578,352.98
(List in order of attached)			

IFBC N PROJE	BULATION & SUMMARY O. 24-TA004973SAM CT NAME: SR 70 / 15TH ST E WATER MAIN		WOODRUFF &
RELOC ITEM	DESCRIPTION		SONS, INC. AMOUNT
1	Bid A Based on 160 Calendar Days Construction	1	\$578,352.98
2	Bid B Based on 130 Calendar Days Construction	1	No Bid

^{*} EZ Contracting, Inc. was found non-responsive, non-responsible.

BID TAE IFBC NC PROJEC	BID TABULATION & SUMMARY IFBC NO. 24-TA004973SAM PROJECT NAME: SR 70 / 15TH ST E WATER MAIN RELOCATION			WOODRUFI	WOODRUFF & SONS, INC.
ITEM	DESCRIPTION	QTY	N/M	UNIT PRICE AMOUNT	AMOUNT
I. GEN	GENERAL				
1	Mobilization	1	FS	\$ 53,938.08	\$53,938.08
2	Erosion and Sediment Control	1	ST	\$ 661.57	\$661.57
3	Maintenance of Traffic	1	TS	\$ 32,085.16	\$32,085.16
4	Record Drawings	1	FS	\$ 3,817.01	\$3,817.01
5	Temporary Shut-Down Coordination (Night Work)*	1	ST	\$ 4,222.82	\$4,222.82
9	Pipeline Testing	1	ST	\$ 22,934.72	\$22,934.72
				SUBTOTAL	\$117,659.36
II. PRO	PROPOSED IMPROVEMENTS				
7	24" Class 250 DIP Water Main	230	LF	\$ 486.38	\$111,867.40
~	Utility Pipe, Remove & Dispose, 20-49.9"	220	LF	\$ 128.65	\$28,303.00
6	24" DI Fitting - 45 Deg. Bend, MJ	4	EA	\$ 4,260.33	\$17,041.32
10	Sanitary Manhole Adjustment	8	EA	\$ 6,630.84	\$53,046.72
11	Valve Box Adjustment	12	EA	\$ 3,964.86	\$47,578.32
12	Water Meter Box Adjustment	2	EA	\$ 2,604.01	\$5,208.02
13	Cut and Connect to Ex. 24" Water Main (Including	2	EA	\$ 49,910.40	\$99,820.80
14	Concrete Driveway Replacement	75	$\overline{\mathrm{AS}}$	\$ 241.36	\$18,102.00
15	Concrete Sidewalk Replacement	100	$\overline{\mathrm{AS}}$	\$ 183.06	\$18,306.00
16	Sodding	750	$\overline{\mathrm{AS}}$	\$ 11.79	\$8,842.50
				SUBTOTAL	\$408,116.08
	SUBTOTAL	MITE	OUT CO	SUBTOTAL WITHOUT CONTINGENCY	\$525,775.44
17	Contract Contingency (10%) County Authoized Use Only	1	ST		\$52,577.54
	BID A 160 CALENDAR DAYS CONSTRUCTION TOTAL	YS CO	NSTRUC	TION TOTAL	\$578,352.98

BID TAE IFBC NC PROJEC	BID TABULATION & SUMMARY IFBC NO. 24-TA004973SAM PROJECT NAME: SR 70 / 15TH ST E WATER MAIN RELOCATION			WOODRUF	WOODRUFF & SONS, INC.
ITEM	DESCRIPTION	ALÒ	M/N	UNIT PRICE	AMOUNT
I. GEN	GENERAL				
	Mobilization	T	FS		NO BID
2	Erosion and Sediment Control	1	FS		NO BID
3	Maintenance of Traffic	1	FS		NO BID
4	Record Drawings	1	Γ S		NO BID
5	Temporary Shut-Down Coordination (Night Work)*	1	Γ S		NO BID
9	Pipeline Testing	1	ST		NO BID
				SUBTOTAL NO BID	NO BID
II. PRO	PROPOSED IMPROVEMENTS				
7	24" Class 250 DIP Water Main	230	LF		NO BID
8	Utility Pipe, Remove & Dispose, 20-49.9"	220	LF		NO BID
6	24" DI Fitting - 45 Deg. Bend, MJ	4	EA		NO BID
10	Sanitary Manhole Adjustment	8	EA		NO BID
11	Valve Box Adjustment	12	$\mathbf{E}\mathbf{A}$		NO BID
12	Water Meter Box Adjustment	2	EA		NO BID
13	Cut and Connect to Ex. 24" Water Main (Including	2	EA		
	Restraints)				NO BID
14	Concrete Driveway Replacement	75	SY		NO BID
15	Concrete Sidewalk Replacement	100	SY		NO BID
16	Sodding	052	SY		NO BID
				SUBTOTAL NO BID	NO BID
	SUBTOTAL	WITHC	OT CO	SUBTOTAL WITHOUT CONTINGENCY NO BID	NO BID
17	Contract Contingency (10%) County Authoized Use Only	1	LS		NO BID
	BID B 130 CALENDAR DAYS CONSTRUCTION TOTAL	S CON	STRUCT	TON TOTAL	